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Passmores History Department Year 9 Unit 16 Lesson #5 

 
Explain how Hitler and the Nazis would present the same set of data about Germany’s industrial production during World War 

II to three different groups of people. Think about what the audience would want to hear. The first one has been done for 
you. Read this and use it as a model for answering the question for the other two groups. 

 

Group 1: Workers  Group 2: The Army Group 3: Businessmen and factory owners 
 

Group 1: 
Workers 

Group 2: 
The Army 

Group 3: 
Businessmen and factory owners 

 
Hitler would use the three graphs to show that 
there were plenty of jobs for the workers in 
Germany producing the weapons for the war. 
 
Hitler could also say that the rising aircraft and 
tank production showed the strength of 
Germany’s armed forces. He would say that this 
showed that the Nazis were protecting the 
German people well. 
 
The graph of coal production could be used to 
show that there was fuel for factories and homes. 
 
 
 
 
 
 
 

 
 
 
 
 
 
 
 
 
 
 
 

 

 


